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What inequality is shown by the number line?

© L

1 13
A) 1< X<13 B) 1<X<13
C) 1>X213 D) 1<X<13
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Questions provided by
nis an integer.

-i<n<4 DJustMaths

List the possible value of n.

possible valuesa;- (2)

What should go in the shaded box?

1,0,1,2,3 1,2,3
4,4,2.8

-1,0,1,2,3,4

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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What is the solution to this linear inequality?
=32
x=5 B x<5

x>5 B x<-1

What is the solution to this linear inequality?
4 =325
x > 32 (8| x> %

B x>2 B x>8

What is the solution to this linear inequality?

bx+1<4x—7

x<-4 B x<-=-3

x>-3 B x>-4

What is the solution to this linear inequality?
5-2x<7
x>1 B x<1

x<-1 W x>-1
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Correct Answer: ABCD

Explanation:
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What is the solution to this linear inequality?

B x<6 B x>6

x> 2 Bl X € 2 | s
) Correct Answer: ABCD
Which set of . ¥
inequalities Explanation:
describes the blank 1 i
region marked R? 7 S |
e 1 3
A) y >x,x< 2 //‘ "TT7 1 BHEE | 300 ..cceeieviersecssenessarssasnsuessntssanssnassssornnnsnnassasrsnnnnnnssnn
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B) x < ¥ = /’/ . of | B | e
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: Correct Answer: ABCD
: What is the ]
: solution to Explanation:
SEE) \;/ ! ! L (x+2)(x_1) >0—) ..........................................................................
e B Cocx <1 | s
x<—-2andx>1 n A L
Correct Answer: ABCD
What is the )
solution to Explanation:
c) — (x+1)(x_3)<07 ..........................................................................

x<-landx>3 B x<-=1lorx>3

-1<x<3 Bl 15x>3 |
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Correct Answer: ABCD

Find the solution of x> +x—-12<0.
Explanation:

‘-\ x == 4 or x e
B X _3 e 4 ..........................................................................
C _4 . 3 ..........................................................................
D _3 ol 4 ..........................................................................
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